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A student wonders if tall women tend to date taller men. She measures herself, her dormitory
roommate, and the women in the adjoining rooms; then she measures the next man each woman
dates. Here are the data (heights in inches): *

 Women 66 | 64 | 66 | 65 | TO | 65
Men | 72 | 68 | 70 | 68 | 71 |.65

#1. Is there a clear explanatory variable and response variable in this setting? If so, tell which is
which. If not, explain why not.
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#2. Make a well-labeled scatterplot of these data.
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#3. Based on the scatterplot, describe the pattern, if any, in the relationship between the helghts of
women and the heights of merthey date.
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#4. Use your calculator to find the correlation » between the heights of the men and women. Do
the data show any evidence that taller women tend to date taller men? Explain.
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#5. How would » change if....

...all the men were 6 inches shorter than the heights given in the table?
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...heights were measured in centimeters rather than inches? (There are 2.54 Centlmeters in

each inch)
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#6.  Suppose another 70-inch-tall female who dated a 73-inch-tall male were added to the data set.
How would this influence 7?
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Below is some data on the relationship between the price of a certain manufacturer’s flat-
panel I.CD televisions and the area of the screen, We would like to use these data to predmt

the price of televisions based on size. e
Screen Area |  Price ol ‘ T .
(sq. inches) | (dollars) 500 .
154 250
207 265 , 8 o
289 330 - .
437 375 ol .
584 | 575 . ®
683 650 B

#7. Use your calculator to find the equation of the least-squares regression line. (define any

variables used) ':‘:j‘ = J0S. ¥3> + 0. 269 %
X area ( m?)
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#8. Explain what is meant by “least squares” in the expression “least-squares regression line”.
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#9. This manufacturer also produées a television with a screen size of 943 square inches. Would it
be reasonable to use this equation to predict the price of that television? Explain.

f%m wﬁ%%} J @%f)ﬁf@&%‘“ﬁjﬂw /We‘ Cﬂ"f" ‘!Wﬂj“f '{Aﬂ"ﬁ «Mﬁw @iﬂﬁf“‘i
wii N?Wgﬂ fﬁﬂ(ﬁa’)

#10. Calculate the residual for the television that has a screen area of 437 square inches. What does |
this number suggest about the cost of this television, relative to the others?
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£ Resquared in this itiation.
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